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. x*+x"yz+y"=-x‘ +2x"yz+y‘—x"’y2
= (%) 257y 4 (y2) 2 — (xy)?
=(x¥+y?)— (ay)?
=(xPtxy+y?) (% — xy+y?),

. REER. 18a% — 48a%b+32ah?,
W 18a%—4802b+32ab?

=2a(%a%—24ab+16b2)
=2a(3a—45b)2,

. SRBER, 30t —6ab+3b2— 12¢2,

fR. 3a%—6ab+3b2—12c2
=3(a+bH)2—12¢2
=3[ (a+b)1—4c¢t )
=38[(a+b+2c)(a+b—2¢)]
=3(6+b+2¢)(a+b—2c),

- MR x'—2xly—3y°+8y—4,

W R = (x'—2x% +y?) — (4y?— By +4)
=(x?—y)?—(2y—2)?
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= (x2-y+2u—2) (x2=y—2y+2)
= (x2-by—2)(x2—-3y-+2),
5. ARER. 2°y—xy+27y— Xy
f#, x°y—xdy+2xiy—xy
=x(xt—xt+2x—1)
=zy[xt-- (x—1)2]

=xy(xz+x-—1)(x’-x+1j
1445 1—v/5
—ay(x+—--- _(x+-—~——2 )

(x*—x+1),
6. HMAER: (a—x)y*—(a—a*+(x—y)a’,
. (a—x0y*— (a—yxt+(x—y)d,
= (a—x)y*+ax(a?—x?) —y(a*—x*)
= (a—x)[y* +a?x+ax?— a6’y — axy — x*y]
= (a—%)[ —y(a?—y?) +axla—y)+x*(a—y)]
=(a—x)(a—y[—ay—y?+ax+x2]
=(a—x)(a—y)(x—y (a+x+y),
7. ARER, ax—bx—cy+ex+by—ay.
BiE— BEE=(ax—bx+cx)— (ay—by+cy)
. =x{(a=b+c)—yla—b-+c)
=(x—y)(a--b+e),
|iE=, BER=(ax-—-ay) — (bx—by) +(cx—cy)
=a(x—y)~—b(x—y) +ec(x—y)
=(x—y)la—b+e),
8. HRER: ax?+bx?—atx—bx—2abx+a*b+ab?,
7. B =(ax?+bx?)— (a2x +2abx +b%x) + (a?b+ab?)
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=(a+b)x?—(a+b)*x+abla+b)
=(a+b)[x*~ (a+b)x+ab]
=(a+b)(x—a)(x—b),

9. HMERK: 2 +2x°+3x*+2x-F1,

B R =x'+2x 252+ 22+ 2541
=x2x2(x+1) + (x+1)2
=(x?+x+1)2,

10. RER,: ¢*+3e*+3a+2,

#: FAX=(a*+3a2+3a+1)+1
={a+1)*+1
=L(a+1)+1:][(a+1)3—(a+1}+1]
=(a+2)(a*+a+1),

L, HBER, (xty+2)?—xt—yd— s,
it BA=[(x+y+2)°~x3]—(y*+2%
=+ [(x+y+22+ax+y+2) +x2]
~(y+2)(y*—yz+22)
=(y+2[(x+y+2)2+x (< Fy+2z)+x2
_(yz;yz+zz)]
=(y+2)(3x*+3xz+3yz+3yx)
=3(y+2)[x(x+2)+y(x+2)]
=3(y+2)(x+2)(x+y),
12, HBEAX: (e—=b)*+ (b—-c)*+(c—a)?,
ff: R =(a—-0)°+[(b—c)+(c—a)]-[(b—c)?
' —{(b-~c){c—a)+(c—a)?]
=(a=b)+(b—a)[(b—c)?~ (6—c)
(e—a)+(c—a)?]



=(a—b){(a—b)1=[(b—c)*—(b—¢)
(¢c—a)+(c—a)]}
=(a—b)(3bc—3c*—3ab+3ac)
=3(a—b)[c(b—c)—a(b—c)]
=3(a—-b)(b—c)(c—a),
13, SEER, Ax?+3x+1)2 —(afx— 4P —(x? +5x+6),
., FRA=[2x*+6x+2)— (2" +x—4)]-[(2x* +6x
£2) 4 (24 x—4)J— (%2455 +6)?
=(x2+5x%+6)(3x2+Tx—2)—(x*4-5x+6)*
=(x245x4 6)[3x*+Tx—2— (x2+5x+6)]
=(x+2)(x+3)(2x*+2x—8)
=2(x+2)(x+3)(x*+x—4),
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=(x—1) | x (cos T +isin=> 15

-[x (cf)s ;_ +1i sm-);—g ] [x—(cos-%’{;‘sin.gg)];... .
-[x-—( cos 2165¢ +i Sin%%%)]']:x-—((:os 2185“' +isin 28”)].
Lig:H x3—‘1=(x—1)-[ (cos 2—3—-+: sm—%E ]

-[x-- (cos—-—+i si n-——)]
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( 2xcos—~—+1) (xz 2x cos———+1) (x’-Zxcos—-—-

+1)-(x=—2x cos 12"’ +1) ((x2—2x cos 14“ +1)
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w (Xt F A x+1) (=X X2 —x+1),
15, RBEREIRER,
4% —dxy —3y*—4x+ 10y —~3,
8. BEhix—dxy—3y?=(2x—3y) (2% +y)
& KRX=Cx—3y+DH@x+y+m)
=(2x—3y) (2x+y)} + 2x+ !
+(2x—3y)m+Im
—4x=—4xy Sy +2(+m)x+ (-3m)y+Im
(K1, mbBE).
RFESR A BHS, 8.

214+2m=—4 (1)
I—-3m=10 (2)
l-m=-—3 (3

H1), BB, =1, m=~3, FREG).
S REA=CQx—3y+1)@2x+y—3),
16. HEER. 22(y—2)+y2(z—x) +22(x—y),
N ==z
W R =x*(y—y) +y*(y—x) +y*(x—y) =0,
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ek, RRA@—2 R,

R Hx=z, x=yif, FAYIF,

W(z—2), (x—yEERAMET,

BARKX N =R, Prilafi

BR=r(y—2)(x—y)(z—x)

& x=0, y=1, z=2, fih=—1

S B =—(y—2)(x—z-x),

aER. (4 Tx+6) (x4 Tx+-12) — 280,

. FER=[x?+7x)+6][(x?+7x)+12]—280
=(x2+7x)2+18(x" 4 7x)—208
=[(x24+7x)+26][ (x2+7x)—8]

C=(x - Tx+26) (x2+Tx—8)
=(x2+7x+26)(x—1)(x+8),
=) il

HBTIERR:

(a—b)(a—b—c)+(a+b)(—a+b+re),

K&, —2be—-b—0),
x5 4+3x4 4+ x34+3x2+x+3,
ZR, (x+3)(x2+x+1)(x2—x+1),

. Xyr—yzr—zx—xy+x+y+z—1,

k. (x-—l)(y—l)(.z—l).

a*b-—abt+atc—act—2abc +b%c+bc2,

ER (@—b(a—c)(b+o).

Cxtyta)ttyzlyt2) fayz,

ER (xtyt+a)(xtytztyz),
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x"-+%x—x3
28 1.,
n%: '_x(x—?) .
ar+4b% + 4c2+ dab—ac—2be
2
HER (ﬂ+25— ;-) .

xzﬁ,yz_’_xs_ys.
BR: (=) (P Fay+y?+x+y),

. 4(Gb+cd)2—-(az—i-b?-_.cz_ufz)z.

HE (atbde—d)(a+b—cHd)
(a=btc+d)(—a+b+tc+d),
T2x*—50x%y% +8yt,
BHR: 23x+2y) (3% —2y) (2x+ y) (2x—y).
30x2™+11x™—30, '
. ER. (5x™46)(6x™—35),
(X —4x)2=2(x*—4x)~15,
2o, (=D (x+1)(x—3)(x~5),
23— x(xP—y?) +y(x—y)?,
FR: xylx—y),
(@—a?)¥+(a?—1)34(1—a)?’,
) EH#R. 3ala+1)(a— 1}’
yz(y—z)+zx(z— x)+xy(x w.
FER —(—=y(y—2)(z—2x),
a*(b—¢) +b%(c—a) +c*(a—b),
EHER: —(a=b)(b—c)(c—a)(a+b+o),
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19.

20.

21.

e (D

(xz+11x+24)(x2+14x+24)—-4x’,
mege (x44)(x+6) (¥ +15x+24),
(x—a)(x-—za}(x—Sa)(x—.qa)—120a*.
2R, (x+a) (x— 6a) (x*—5ax+16a?),
xbFyt 42t —2xtyt =2yt — 22740,
BR, (xt+y+2)(xtz—y (x—z—yE—z+y.
xt—x¥+16x2—3x—6,
segr. (2x+1)(3x—2)(x*+3),
be(b+c¢) +eale—a)—abla+b),
g (a+b)(b+e)(c—a),

g SAERA

. 41l (a-(:-b— 02+za;b+b2 >+(a-(:-b '"?12{5(?)'

__ab _ a-b
(a+b)? —ab

2a __ 6ab—24b?
a—3b @*—7ab+126%"

20 _ 6b(a—4b)
. SRR a—3b (a—3b)(a—4b)

__2 __6b _=2“"Gb__..2
a—3b a—3b a—3b

e 10 -
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Y
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bh
.x‘+x‘"’-+1 a(x—2)—2(x—2)
- A — + x2—3x4+2 '

(s 1) (2 1) (x—2)(x—2)
B A = T(x— DIt x+1) + (x—1)(x—2)

x— 1 X—=2 _ x*
x—1 +x-—1 x—

—1
= 1,
7 =x+

(@—b"°% . (bta)? 1
- HH: a®+b' T gl ab b2 x_(b—a)s *

(a2—b2)3 atl—ab-+b
. (a+b) (az—ab—f-bz) (a+b)2
w__—1
% (a—b)?
= L(a+tb)(a=b)* 1_ﬁ _—1
ath (@a+b) *(a—b)
=-—-—1.
{tﬁ. ai‘, + bz + cZ

(a—b)(a—c)  (b—c)(b—a) (c—a) (t_."-—b)'

_ bt c?
. BA=r— c)(a' 8 b=cle=8 " G 5=n

=& (b—c)— —b’(a—ec)+c2(a—b)

(a—b)(a— —e)(h— c)

311.



